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9% JP0R AR 0 JnnR JAN — We lowered him, we will raise
him.

Overview

The case at hand: 7287 had 7%°2X *7¥ and Rn7aR *79; NWnAw had only 799K >73.
1"7 ruled that the property belongs to j2W2. Afterwards 1w»w bought 7v
Xni2aR as well. 1" ruled that we will change the ruling. We removed 1vnw
from this property; now we will reinstate 17vaw to this property. mson will
be discussing under what circumstances will we actually rule that J3°nnXR 71X
1°P0N JIX.

TONIAR NPT TR D997 ININ 197 281 — And if that one, who did not originally
have 07V that the property was in his father’s possession; if he was the —
791N PR — original PImIN; he was in possession of the property when they came
to this 77N 7 (where the other litigant [72387] had 7%°28) Xnnax °7v and he [}wnw], the
P1mIn had 79°9R% >7v only), then the expression of —

J9P0RY JNAR 5W AR — ‘we brought him down and we pick him up’ is
properly understood. 1am1 21 is saying: we originally brought nw»w down, and evicted
him from the property, replacing him with 2187 (who had XniaRy 79°0K *7v). However
now that 11w also brought Xniax 7y we will pick 1Wnw up and evict 1237 (who had the
original Xn7ax >7v) from this property, which in effect will cause —

1792 n7onYIw — that we will place it in the possession of Ww»w the original prmmn
T9IN2 7197 WRD — as it originally was. Since it is *3m *n, we place the property in
its original 7P1M; it was in s'NYNW possession. The expression of 1°Pom1 11°NAX (concerning
Tvnw) is appropriate; he was displaced and reinstated. If however, the original P was
721%7 and the original pod of 1"7 is that J2IX7 retains the property, there is a difficulty.
What would the term "11°pon' mean'? Granted that 1YY also bought XN7aX 7Y so it is a
complete *M °7n; each litigant having 7%°38 731 XN7aR 7Y, nevertheless the property
should still remain in the possession of j21X7, the original P1mn. There is no reason to
evict J2R7 if it is M 0. In a case of 0 0 we follow the 7P, which in this case it
should belong to 7217, the original prm. Therefore it is best that we assume that the
original pPTm was 1ynw, the one who did not have Xnaax >7y, and was subsequently
evicted. Now that 1¥»w brought Xniax 7y, we evict J21X7, the current occupant, and
restore 1YW, the original 1M, to his property.

mooIn offers an alternative explanation of 11°ponI 1P NNN:
P 17977 X9 995K — and even if there was no P37 in this property —

"If we were to interpret 71°pon1 1°NAX to refer to 7217 (as in M50 second explanation) then the term 13°NX
would also be difficult. There is no need to ‘bring down’ 72187 into the property; he is already a P in this

property.
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712 K9 19 XY — not for this one and not for the other one. Neither of the
litigants was pmn in this property; it remains unoccupied, for instance —

wAsY 3% — it is also possible to explain the phrase 1pon 1°nnx, differently;

7% R1NIR — we bring down 121%7 who has Xniax *7 into the property —

7t nnb — to give it to him. 12187 now becomes the pimn. After wnw brings 7y
RN7ax, then —

9% R19pomY — we pick 12187 up from this property, meaning —

1751 Rz — we will take the property out of s'121%1 possession’, in which
case the original status quos will remain; that neither is in possession of this property —
.23 29987 92 X197 X7 — And the ruling in this case will be: ‘whoever is

more powerful will prevail’3. This is the ruling which is applied when two people
argue over property, and neither is in possession. If neither has more proof than the other,
72 rules that 923 2°987 2; they fight it out amongst themselves.

XY 11927 — These explanations were said in the name of the 3''-.

Summary
The phrase 71°pon IR 11°nnR AR refers to either: a) vnw, where 1wnw 1s the

original P1mn and ultimately retrieves the property, or b) J21X7, were there is
no original P1mn, and ultimately the ruling is 223 22987 9.

Thinking it over
1. In Moo second scenario, what are the arguments pro and con® that we
should remove it from the present 'prm»' in order to rule 723 K7 957’

2. What is the 17 if it is >3m0 originally and neither was the PImn?°

% In moOIN first interpretation 71°pom 101X refers to 1v»w; where 1°n1X has a negative connotation and
1°P0X a positive one. In the second interpretation 13°pon1 1°n1X refers to 72187 and the opposite is true that
1°n1X has a positive connotation and 71°pon the negative one.

? This is a ‘secondary’ explanation. Other 2°11wXA disagree with this ruling to remove (even) a (quasi) 'Prm'
from a property in order to rule 123 °987 73 (see thinking it over # 1).

* See footnote # 3.

> See mabw "

% See our NN and the XM later on XNP*MT 79y OPMY RI°K X, A7.
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